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7 100kN/m#E#BZ % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % — -~ — —[3mZEBZ 2 -~ — — —
zh st 1.00 | 000 ~ 475 59.20 | =0 | 0oo ~ 475|178 9.563 zh st 1.00 | 5.00 ~ 5.00 59.20 | =N | 5,00 ~ 5.00)|1.78 9.563
2 100kN/m##z25| 1.00)| 000 ~ 0.88 113.23 |3m&xBZB| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 10.78 ~ 1368 11323 |3mZEHBZ3% -~ — — —
zh sk 1.00 | 088 ~ 867 100.00 | #nds | 000 ~ 867|208 11.15 zh st 1.00 | 5.00 ~ 10.78 100.00 | =nS | 6.00 ~ 1368 2.08 11.15
3 100kN/m#%#BZ2%| 100|000 ~ 072 11069 |3mZEBZZ| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1082 ~ 1313 110.69 |3mZEHZ3% -~ — — —
zh st 100|072 ~ 850 100.00 | #nds | 000 ~ 850 | 2.08 11.11 zh st 1.00 | 5.00 ~ 1082 100.00 | =ndS | 6.00 ~ 1313 2.08 11.11
4 100kN/m##z25| 1.00)| 000 ~ 149 12272 |3m&xBRB| — ~ — — — | 100kN/Mi%#8Z 5| 1.00 | 1060 ~ 1584 122.72 |3mEHEAS -~ — — —
ThLlst 100|149 ~ 928 100.00 | This | 000 ~ 928|232 12.539 ThLlst 100|500 ~ 1060 100.00| Z#hst | 500 ~ 1584|252 12.539
5 100kN/m#%#BZ2%| 100|000 ~ 125 11894 |3mZEBZE| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1068 ~ 1500 11894 |3mZEHBZ3 -~ — — —
zh sk 100|125 ~ 9.04 100.00 | =nLst | 000 ~ 9.04)| 229 12.24 zh sk 1.00 | 5.00 ~ 1068 100.00 | #nS | 6.00 ~ 1500|229 12.24
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g 100kN/m##z25| 1.00)| 000 ~ 303 148.15 |3m%ERBZRB| 0.00 ~ 033|519 17.08 | 100kN/m#%#BZ% | 1.00 | 10.72 ~ 2560 14815 |3mZEHBZB| 2500 ~ 2560| 3.19 17.08
zh sk 100|303 ~ 1081 100.00 | Thidst | 033 ~ 1081 3.00 16.05 zh st 100|500 ~ 1072 100.00 | Z=hs | 500 ~ 2500| 3.00 16.05
9 100kN/m#§Z25| 1.00| 000 ~ 031 104.53 |3m&xEZB| — ~ — — — | 100kN/m%EHBZ5| 1.00 | 1060 ~ 1142 104.53 |3mZEHBZ3 -~ — — —
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zh sk 1.00 | 000 ~ 477 59.50 | =S | 000 ~ 000 1.71 918 zhs 1.00 | 5.00 ~ 5.00 59.50 | ThLS | 500 ~ 500|171 918
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Zh s ~ Zh s ~ Zh st ~ Zh st ~
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